INter/\cCtivVe

Assembly Instructions

STEP1 Place base on flat surface.
STEP2 Place back frame on rear,
STEP3 Insert sides

STEP 4 Insert top

STEPS Place front frame on,

Then screw Front and back frame with m5 screws
STEP 6 Mount upright set (A) to matching holes using m6 cage nuts set.
STEP 7 Insert front door using Ipin.

Visual Instructions Below

MODULAR BATTERY BOX ASSEMBLY

TOOLS NEEDED:M5 ALLEN KEY AND POZI SCREW DRIVER.

STEP1-PLACE BASE ON FLAT SURFACE.
STEP2-PLACE BACK FRAME CON REAR

STEP3- INSERT SIDES.

STEP4- INSERT TOP.

STEPS- PLACE FRONT FRAME ON ,THEN SCREW
FRONT AND BACK FRAME WITH M5 SCREWS.

STEPB-MOUNT UPRIGHT SET (A)TC MATCHING HOLES
USING M6 CAGE NUT SET .

STEP7-INSERT FRONT DOOR. USING LPIN .

MODEL NO:
CHECKLIST

BOTTOM

BACK

SIDESX2

TOP

FRONT
UPRIGHTSET (A)
DOCR

CAGE NUT SET X 12
M5 X 8 ALLEN CAP
M10 FEET & NUTS X4

CreNre LivVe Drive




nterActive . /.

WhHhAT IT will be. What [T will be

3D — Assembled Internal

CreNfe!T. LiVell. DrivVve 1.




InterActive 1T I

WhHhAT IT will be. What [T will be

3D — Assembled External

CreNfe!T. LiVell. DrivVve 1.




Inter/Active /A

WhHhAT IT will be. What [T will be

2D — Dimensions

| U52000-2B (235MM) U

U52000-4B (468MM) U

U52000-58 (601MM) 12U

US3000-2B (380MM) TU

US3000-3B (512MM) 10U

US3000-4B (645MM) 13U

I

FRONT
Design illustrative purposes only, may vary based on product & design

Sides

500mMM

— E——

T Tininiiye,

HITnnnaemnnmnme O

CreNAfe LiVe Drive



InterActive I

WhHhAT IT will be. What [T will be

*Should you find that the door pin does not fit due to the powder
coating, this is perfectly normal and requires minimal corrective effort.

Step 1 — Inspect pin on the door

If Pin is black

Step 2- Clean

Please use a Flat nose Pliers or similar tool to remove the extra powder
coating from pin,

This is achieved by gripping the pin and rotating in a circular motion,

CreNAfe LiVe Drive



mterActive . /4

WHAT IT will be. What IT wil be

]

The powder should come off with ease and the metal on the pin should now
be visible.

Well done, the door will now fit!

CreNfe!T. LiVell. DrivVve 1.




InterActive I

WhHhAT IT will be. What [T will be

WARRANTY SERVICE

LIMITED WARRANTY

FOR ONE YEAR from the date of purchase from Segensolar, this product is
warranted against any defects in material or workmanship.

In the event of a warranty claim, an invoice from Segensolar is required, a
defective part will be replaced free of charge by the manufacturer.

If a replacement part is unavailable, the product will be
replaced with one of equal value.

This warranty does not apply to a product that is damaged or
altered through transportation, misuse, abuse, corrosion, accident,
neglect, modification or mishandling.

Please note the cabinets have been strictly engineered as follows

US2000-W2B = 2x US2000 Pylontech Batteries (Wall Mount)
US2000-2B = 2x US2000 Pylontech Batteries
US2000-4B = 4x US2000 Pylontech Batteries
US2000-5B = 5x US2000 Pylontech Batteries

US3000-W2B = 2x US3000 Pylontech Batteries (Wall Mount)
US3000-2B = 2x US3000 Pylontech Batteries
US3000-3B = 3x US3000 Pylontech Batteries
US3000-4B = 4x US3000 Pylontech Batteries

3 cabinets stacked at most, largest cabinet at the bottom.
Any damage due to over stacking will not be covered by warranty.

Please send any warranty queries together with a copy of your invoice to
sales@interactiveit.co.za
www.interactiveit.co.za

CreNAfe LiVe Drive



mailto:sales@interactiveit.co.za
http://www.interactiveit.co.za/

